adA1-3

BiEE

JO—LXAvF{tE
— ;:|:|J FIWAFUVT
== ¢50 65 75 100 125  wvzwzarwi-
B BAFERLRSR) - EBEAR

ET-100NS,M16 X 40

XX

TXL

060

[tacedl
EL HERGRROERBA-TTT,
S| T | M | & | & &|C ]
& & B W Hin H OIE BftE Bl EvF- i R pogv) "o HEEFE FFAfE
D (mm) W (mm) H(mm) T L N (mm) M (mm) E (mm) R (mm) [daN (kgf) ]
ET-50ELS,M12X 35 M12 1.75 35 19
ET-50ELS,UNF1/2%X 14 50 20 68 UNF1/2 20 21 22 49 25(25.5)
14
ET-50ELS,W3/8% 14 W3/8 16 17
ET-65ELS,M12X 35 M12 1.75 35 19
ET-65ELS,UNF1/2X 14 65 21 85 UNF1/2 20 21 23 57
14
ET-65ELS,W3/8X 14 W3/8 16 17
30(30.6)
ET-75ELS,M12X 35 M12 1.75 35 19
ET-75ELS,UNF1/2X 14 75 21 95 UNF1/2 20 21 27 65
14
ET-75ELS,W3/8X%X 14 Wwa3/8 16 17
ET-100ELS,M12X 35 M12 1.75 35 21
ET-100ELS,M16 X 40 M16 2 40 23
100 27 126 31 82 50(51.0)
ET-100ELS,UNF1/2x25 UNF1/2 20 25 21
HAILPP
ET-100ELS,W3/4 X 40 #H BITRAN— W3/4 10 40 23
ET-50RS,M12X 35 M12 1.75 35 19
ET-50RS,UNF1/2%X 14 50 20 68 UNF1/2 20 21 22 49
14
ET-50RS,W3/8x 14 wa3/8 16 17
30(30.6)
ET-65RHS,M12Xx 35 M12 1.75 35 19
ET-65RHS,UNF1/2X 14 65 21 85 UNF1/2 20 21 23 57
14
ET-65RHS,W3/8Xx 14 W3/8 16 17
ET-75RHS,M12X 35 M12 1.75 35 19
40(40.8)
ET-75RHS,UNF1/2%X 14 75 21 95 UNF1/2 20 21 27 65
14
ET-75RHS,W3/8x 14 W3/8 16 17 35(35.7)
ET-100RHS,M12X 35 M12 1.75 35 21
ET-100RHS,M16 X 40 M16 2 40 23
100 25 126 31 82
ET-100RHS,UNF1/2Xx 25 UNF1/2 20 25 21
ET-100RHS,W3/4 X 40 W3/4 10 40 23
50(51.0)
ET-125RHS,M12X 35 M12 1.75 35 21
ET-125RHS,M16 X 40 M16 2 40 23
125 25 152 36 99
ET-125RHS,UNF1/2x 25 UNF1/2 20 25 21
FAOLTL
ET-125RHS,W3/4 X 40 & s W3/4 10 40 23
17 RINF
‘HERTE 21x232/5F

2—IAZ/¥F(19mm.~21mm)




G}
ES]
@
G| T | 4 |& | &|8|la v | © ’
& B W HinE o BftE fal EvF-li#| RE popv) "o HEEFE FFAfE
D (mm) W (mm) H(mm) T L N (mm) M (mm) E (mm) R (mm) [daN (kgf) ]
ET-50RES,M12% 35 M12 1.75 35 19
ET-50RES,UNF1/2X 14 50 20 68 UNF1/2 20 21 22 49
14
ET-50RES,W3/8x 14 w3/8 16 17
30(30.6)
ET-65RHES,M12X 35 M12 1.75 35 19
ET-65RHES,UNF1/2x 14 65 85 UNF1/2 20 21 23 57
14
ET-65RHES,W3/8x 14 w3/8 16 17
21
ET-75RHES,M12% 35 M12 1.75 35 19
40(40.8)
ET-75RHES,UNF1/2X 14 75 95 UNF1/2 20 21 27 65
14
ET-75RHES,W3/8 % 14 w3/8 16 17 35(35.7)
ET-100RHES,M12x 35 M12 1.75 35 21
ET-100RHES,M16 X 40 M16 2 40 23
100 25 126 31 82 50(51.0)
ET-100RHES,UNF1/2x 25 UNF1/2 20 25 21
KAV EETL
ET-100RHES,W3/4X 40 | & #&#®IL W3/4 10 40 23
ET-50NS,M12% 35 M12 1.75 35 19
40(40.8)
ET-50NS,UNF1/2x 14 50 68 UNF1/2 20 21 22 49
14
ET-50NS,W3/8% 14 w3/8 16 17 35(85.7)
ET-65NS,M12x 35 M12 1.75 35 19
40(40.8)
ET-65NS,UNF1/2X 14 65 21 85 UNF1/2 20 21 23 57
14
ET-65NS,W3/8% 14 w3/8 16 17 35(35.7)
ET-75NS,M12% 35 M12 1.75 35 19
50(51.0)
ET-75NS,UNF1/2x 14 75 95 UNF1/2 20 21 27 65
14
ET-75NS,W3/8% 14 w3/8 16 17 35(85.7)
ET-100NS,M12% 35 M12 1.75 35 21
ET-100NS,M16 X 40 M16 2 40 23
100 25 126 31 82 60(61.2)
ET-100NS,UNF1/2x 25 UNF1/2 20 25 21
b 912 s b
ET-100NS,W3/4 X 40 F HiFO W3/4 10 40 23
ET-50URS,M12x 35 M12 1.75 35 19
38(38.8)
ET-50URS,UNF1/2x 14 50 68 UNF1/2 20 21 22 49
14
ET-50URS,W3/8% 14 w3/8 16 17 35(35.7)
ET-65URS,M12% 35 M12 1.75 35 19
40(40.8)
ET-65URS,UNF1/2x 14 65 21 85 UNF1/2 20 21 23 57
14
ET-65URS,W3/8x 14 w3/8 16 17 35(35.7)
ET-75URS,M12x 35 M12 1.75 35 19
45(45.9)
ET-75URS,UNF1/2x 14 75 95 UNF1/2 20 21 27 65
14
ET-75URS,W3/8% 14 w3/8 16 17 35(35.7)
ET-100URS,M12x 35 M12 1.75 35 21
ET-100URS,M16 x40 M16 2 40 23
100 28 126 31 82
ET-100URS,UNF1/2x 25 UNF1/2 20 25 21
ET-100URS,W3/4 X 40 W3/4 10 40 23
60(61.2)
ET-125URS,M12% 35 M12 1.75 35 21
ET-125URS,M16 X 40 M16 2 40 23
125 32 152 36 99
ET-125URS,UNF1/2x 25 UNF1/2 20 25 21
FKOFar
ET-125URS,W3/4X40 | = #iLs W3/4 10 40 23
ET-100NRS,M12x 35 - M12 1.75 35 21
ET-100NRS,M16 x40 M16 2 40 23
100 27 126 31 82 60(61.2)
ET-100NRS,UNF1/2X 25 UNF1/2 20 25 21
b 1% e =
ET-100NRS,W3/4x40 | = #d4 w3/4 10 40 23

061



adA1-3

= r -
@ T M | & &2l & |l §| T |y
& & B W HinE o BftE fal EvF- £33 pogv) "o HEEFE BEGES
D(mm) W (mm) H(mm) T L N (mm) M (mm) E(mm) R (mm) [daN (kgf) ]
ET-100NRBDS,M12x 35 M12 1.75 35 21
ET-100NRBDS,M16 X 40 M16 2 40 23
100 27 126 31 82 60(61.2)
ET-100NRBDS,UNF1/2x 25 UNF1/2 20 25 21
RAIFAO>
ET-100NRBDS,W3/4x40 | ¥ #:IL4(BA) W3/4 10 40 23
ET-100UHFDS,M12x 35 M12 1.75 35 21
ET-100UHFDS,M16 x40 M16 2 40 23
100 28 126 31 82 60(61.2)
ET-100UHFDS,UNF1/2x 25 UNF1/2 20 25 21
FAIVFAO
ET-100UHFDS,W3/4X 40 | ¥ #L4%>(BA) W3/4 10 40 23
BEE
ATVLDRA
» N o <,
-— -— J:llj FTWRTUVY

== ¢ 50 65 75 100

YVTIWARYIN—

6¢¢é

SUS-ET-100NS,M12x 35

B A& (B UAHK)

-ERERAB

L

&

062

T RRF I ZOH
NR HEHEIRRO LRI TT,
S r- .
ST | M| & & & A | T Y
& B W HRE E g W= fal EvF L E3 X$i " v HEEIFE HAWE
D (mm) W (mm) H(mm) T L N (mm) M (mm) E (mm) R(mm) [daN (kgf) ]
SUS-ET-50ELS,M12X 35 50 20 68 22 49 25(25.5)
SUS-ET-65ELS,M12X 35 65 85 19 23 57
21 M12 1.75 35 30(30.6)
SUS-ET-75ELS,M12X 35 75 95 27 65
SUS-ET-100ELS,M12x 35 21
SUS-ET-100ELS,M16 X 40 100 27 126 M16 2 31 82 50(51.0)
RAIVPP 40 23
SUS-ET-100ELS,W3/4X40 | & #:152kv— w3/4 10
SUS-ET-50RS,M12x 35 50 20 68 22 49
30(30.6)
SUS-ET-65RHS,M12X 35 65 85 19 23 57
21 M12 1.75 35
SUS-ET-75RHS,M12X 35 75 95 27 65 40(40.8)
SUS-ET-100RHS,M12x 35 21
SUS-ET-100RHS,M16 x40 100 25 126 M16 2 31 82 50(51.0)
FAVTL 40 23
SUS-ET-100RHS,W3/4X 40 | = #:54 W3/4 10
SUS-ET-50NS,M12X 35 50 68 22 49
40(40.8)
SUS-ET-65NS,M12X 35 65 21 85 19 23 57
M12 1.75 35
SUS-ET-75NS,M12% 35 75 95 27 65 50(51.0)
SUS-ET-100NS,M12X 35 21
SUS-ET-100NS,M16 x40 100 25 126 M16 2 31 82 60(61.2)
HAFAO 40 23
SUS-ET-100NS,W3/4X40 | = #:F1o> W3/4 10






